#include <htc.h>
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__CONFIG(FCMDIS & IESODIS & BOREN & UNPROTECT & MCLREN & PWRTEN & WDTDIS
& INTIO);
__IDLOC(0001);

#define XTAL_FREQ 1000000

ioport(;
unsigned char Flagl,Sec1,Min1,Flag2,Sec2,Min2;

void Buzzer(unsigned cont);

void Process(void);

main()
{
OSCCON=0x40; /* 1IMHz */
GPIO=0; I*GPIO B> O T —4%% 01232 */
ioport(;
GPIF=0;
CMCONO0=0; [Fa N L—HZ{E R ¥

/* Timerl #IHAREE 1 BB *¥/

T1CON = 0x30; I W27 v > 7 1/8 4usec
TMR1H = 0x85; /I TMR1 EfiE > b
TMR1L = 0xFO0; // TMR1 it > b
TMRIIE = 1; 11510 SAZFFA]

TMRI1ON = 1; /| #A~1AZ—]R*

¥ R0 IABFFR] ¥
PEIE =1,
GIE =1

1% 2R ¥/



Flagl=1; [*T1%/
Secl = 0;
Minl = 3;

Flag2=1; [*T2%/
Sec2 = 0;
Min2 = 6;

GPIO5=1; /*LED1 on*/

/************* )( /]’ V/]/_7° **************/

while(1){
if(GPI04==0)  Process();
}
j
ioport()
{
TRISIO=0x18; /* GP3, GP4 v iAIE Y | GPO~GP2,GP5 B3 e %
ANSEL=0x00; /* GP0,GP1,GP2,GP3,GP4,GP5 "> %7 v ¥ /)L I/0 £— KIZT 5%
*/
GPPU=0; /*pull up enable*/
WPU=0x18; *GP3. GP4 pull up*/
}

/****************************************

* Timerl #| Y JAZALEL
* Timerl : 1 #FEHA

*****************************************/

void interrupt T1ISR(void){

[FEEE Fh 2 A < Timerl |V IAZSLPL *x¥*/

TMR1H = 0x85; /' TMR1 Efiit v
TMR1L = 0xFO0; /I'TMR1 Tt > b
TMRI1IF = 0; I &80RARBRZ7Z 727 )T
GPIF=0; Uty b ¥

/*** &/]’»’\7 ***/
if(Flag1)t



/* ER R R R R R R R S L S R e R

if(Sec1 == O)}{
if(Min1 > 0){

Secl = 59;
Minl--;
}
elset
Buzzer(1);
GPIOO=1;
}
}
else
Secl--;
}
if(Flag2){
if(Sec2 == O){
if(Min2 > ON
Sec2 = 59;
Min2--;
b
elset
Buzzer(2);
GPIO1=1;
b
b
else
Sec2--;
b

% 7l

/*

CCP1 ®» PWM — R CTHN T =2—7 11X 50%

/******************************************/

void Buzzer(unsigned cont){

switch(cont){

case(0):

Il FORET D2
I 3% T2
/159 B 2HtE > b
11538

Il 4kHz 7% —A %/
*LED3 on*/

11 ¥

I FOR&T a2
I 5348 T2
11 59 FHIZ -+t v b
I 538

/I 3kHz 7% —A %/
*LED2 on*/

I RO



/* Timer2 &= 1E */

T2CON = 0; // Timer2 {5 1=
CCP1CON = 0; /| PWM £ — R{EIE
break;

case(1):

* Timer2 IR E 4kHz */
PR2 =61; Il 4usec*62=0.25msec
TMR2 = 0;
T2CON = 0x04; // Timer2 A % — k
CCP1CON = 0x0C; /I PWM E&— K
CCPR1L = 31; // Duty 50%
break;

case(2):

/* Timer2 IR E 5kHz */
PR2 = 49; /I 4usec*50=0.20msec
TMR2 = 0;
T2CON = 0x04; /l Timer2 A & — K
CCP1CON = 0x0C; /I PWM E— K
CCPRI1L = 25; /I Duty 50%
break;

default:break;

b
}
[*Process™/

void Process(void){
if(Flag1)t
Flag1=0;Buzzer(0);
H
else Flagl1=1;



